Bl 4. 1w A S 7R x(t) =sin(at) +cos(bt), y(t) =sin(ct) + cos(dt),
(0<t<27, a. b. c. d NAEGEEED KEIE.
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(LD Ha=c,b=dif, XRKEIGRE —FLE:
(2) a=d=0b=c#0msta=d=0,b=c=08, XMHEEHEZ—HE;
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(2) 4T7F “BER” B SHESH” w4, HEliS4a,b,c,d.

(DO FIFHZHE ab.c.d Al t FEATHEE, 513 sin(at) + cos(bt) A1 sin(ct) + cos(dt) ;



(5) Mk b BoAf sin(at) + cos(bt) 1 sin(ct) +cos(dt) , 7£°F 1 -2 5 U (x,
y)s

(6) #EF UM C, FIMEEEZERS “Pik”, /SEOTRENER, WA 5.13.
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W t=040n L
.|| a=400

b=1.00 6t
c=200 ¢

d=1.00
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sin(at)+cos(bt) = 0.64

sin(c-ty+cos(d-t) =0.91
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[1] a=b=c=1, d=5 [2] a=5, b=d=2, c=3 [31a=7, b=8, c¢=3, d=2
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[4]a=6, b=3, c=4, d=1 [5]a=6, b=8, c=5, d=1  [6]a=5, b=7, c=2, d=6
ClgiE 2L ) CRBERD; EfED;
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[1]a=4, b=3, c=5, d=2 ( [2]a=5, b=2, c=2, d=3 (
[8]a=12, b=0, c=11, d=0 ( );  [4]a=d=6, b=c=9 (
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